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1. The purpose of the implementation of Community Service for health professionals was to:
a) Retain health professionals within the public service
b) Improve the provision of health care for all South Africans, particularly in rural and underserved areas*
c) Prevent the migration of health professionals to other countries
d) Staff secondary and tertiary health facilities through South Africa

2. Community Service was implemented for occupational therapists in
a) 1999
b) 1998
c) 2005
d) 2003*

3. Compulsory Community Service increased the number of state-employed occupational therapists by:
a) 33%*
b) 10%
c) 50%
d) 20%

4. Select the answer that is true. A majority of 2014 CSOTs worked
a) Rurally
b) Solely at primary health facilities
c) In urban areas *
d) Within community-based services

5. Common reasons for referral reported by CSOTs included
a) Disability grant assessments
b) Wheelchair related services
c) Adults and children with neurological problems
d) Developmental delay / stimulation / ECI
e) All of the above *

6. A majority of CSOTs reported feeling
a) Challenged
b) Frustrated
c) Like occupational therapy is poorly recognized
d) Proud to be an occupational therapist
e) All of the above*

7. Three quarters of CSOTs reported 
a) Feeling professionally confident
b) A sense of satisfaction from interacting with clients*
c) Feeling like I need a mentor
d) Feeling uncertain

8. Which of the following was not a reason given by CSOTs for the perception that occupational therapy was poorly recognized
a) CSOTs were often mistaken as physiotherapists
b) Occupational therapists do not do enough to market the profession*
c) A limited understanding of the role of the occupational therapist existed within the multidisciplinary team and the community 
d) The meaning of occupational therapy often got lost in translation

9. Professional identity formation in CSOTs appeared to be
a) Challenged when supervision was dissatisfactory 
b) Strengthened when therapists witnessed the unique contribution that occupational therapy is able to make
c) Challenged by a lack of understanding of the profession within the health team and in the community
d) All of the above*

10.  Select the incorrect statement. CSOTs worked with a median of
a) 3 Other occupational therapists
b) 0 Speech therapists
c) 2 Physiotherapists
d) 1 Social worker*

